FADUDORKS

FORMAD 11

Reference V2.0
Assembly Manual



http://fmdworks.com
http://fmdworks.com

FADUDORKS

TTREF V20



http://fmdworks.com
http://fmdworks.com

FADUDORKS

CAUTION: do NOT
overtighten the screws.

M3 Thumbscrew
(THUMB-6)

M3 Standoff
(STANDOFF-5)

&

M3 Flat Head Screw
(M3-4)

M3 Female Standoff
(STANDOFF-F6, for motherboard only)

o

M3 Countersunk Scew
(CSM3-5)

M3 Countersunk Screw
(CSM3-8)


http://fmdworks.com
http://fmdworks.com

FADUDORKS

TTREF V20

e e pA e e
Goo.mwnwunm.ﬂnwu 20300

L= gl )

STANDOFF-F6 x4

Fasteners
M3-4 x6


http://fmdworks.com
http://fmdworks.com

FADUDORKS

TTREF V20

T I A B i i i i T A e e e Tt et el el et ol Bl T Tl ot Bt Kt ot Tl Bt Bl Bl el T Tkt B Tl el el ol ot Tl ol ol Bl et

T T - e 0 e o T el gt B e Tt ok ot Bl

eSS ey SRy S S S g s g e s s e s e gy

T b Bt bt B e Bt Bl Bt et Bt B el Bt Tt gt et [l o el [l ot gt Tt Tt Tt Tl Jioll Jt Bt et ot Tt ot el Tl Tt Tt T T T el Bt Tt Tt Tt ot ol ol

[ ] A o A T T T O e D o O N A o O O o o o e i o 0 O S O O T L A R D e O D D A D o o R D D O

i
uuu
uuu
i
=
: i
% £
b i
T p
7 i
T P
T A,
T
A e A
i !
3 i !
u 1
L Ly u "
L | s u .
TJ o T
;
Dr‘
&
a
3
G s
by 3
=3 — || 1|4 D
SRR
] uuu: :
L ;
P
S
et
] uu uuuuuwuuu J
T
7 uu uuuuuuuuu i
e
R
ARt e
B
:
T
J TR
i
M
sy
S
e i
i
J u“ wu
] i u_
J i uu

P o e e e e e e

Fasteners
M3-4 x4



http://fmdworks.com
http://fmdworks.com

FADUDORKS

TTREF V20

=
»Vk .
(%)

ﬁ 1 f . —
e —
e o ®
L
N ./ ./ “, ./ v/ L./ L./ L./ L./ ./ L./ L/ - & - - - - L7 - 7 - L ) Y .@' @‘ " )‘
/m&mmmm%m%%mm%wmmmmmwmmmmmmw&wwwwwwmmmwww% 2985383853
OO0 CCCAC0 0000000600 668 8 S8000:-89
\w\@@@@@@@@@@@@@@@@@@@@@@@@@@@@@@@@@@@
@\\@@@@@@@@@@@@@@@@ BB 8866666600000
% R0505050308505080808080 8680508030 30R0303030300 66303636383
0506032626 26262626260626262626 626262696 625625°535
foco 8020 30208086808086863636262626263636363636 5252553538
fol0808080808080808086808030308086863636363636 SR025R5R5%9
t020202080808080802680565080808020203030303636 SR535353535
0202626202026 2626202620 2026262000062806062626 596952589595
@, 0902020262026 2020262020 262606202626 2626262626 62626252598
0202620209626 2026 2620202620220 2020626 26262625 83525259525
02020262026 262026 202626262620 202000 2626260626 5262525232
s Xos %) Lo X o) Xo) X o) X)X o) o) %oy X o) Ao X)X 6 626 6252525%a
(020502020808080868080868080868036803030363630 SR0363535%
2096202627 %627 202020220220 2r00 220262626240 62625259593
106050505080808086868680808080R0I00R0303030%0 Q020303035%
1209696262696 262006262006 20 220020 2020820 202820%2 I S O O
0202020902720 0006 262020 LALARARARARARARA0ACA 325952398
1P0%0%0%0 202020202020 0n L 2n L0 2nR0 R0 2020202080 20625252595
1902000902020 20L0C020 006 CR2ALARRARARARARAR 3323952523
| 1802020202080 202020262026 2620262 2626202624 052595259

Fasteners:

CSM3-5 x2

o

-~ \LPO\.? NS A

S
&
S
S
)
)
S
S

SN)

Q
Q
Q
Q
Q
Q
Q
Q

-~

Y Y

a2

S

Qa8
a

=)
)
Q
&)
Q

Q
@@
N)

S
S
S
@M@w S

SN
S
S

Q
Q
)

S
RS

AR

23

29
S
RS
quwqw@
90308
2929

¥ " @'v
SO
0293939

)

Q
A

SIS
SR

8

38R
@@WMWM
S

RS,
SRS
SRS
)

S
3
Q33
O30
N

N
IR

AN SN A

S


http://fmdworks.com
http://fmdworks.com

FADUDORKS

TTREF V20

=]
20000 C
- oY

js]a]als]a]=] ﬂﬂg
[s]s]=]

R

Fasteners:

M3-4 x4

g

|
)
5
pn
o @
< -
. O
O
“— @
d|
<t 0 O
X%S
N £ o
N s
1 A_upU
6#w|C
H « » S


http://fmdworks.com
http://fmdworks.com

FADUDORKS

TTREF V20

f__

i/

71
=

WA LIV

Fasteners

CSM3-8 x2



http://fmdworks.com
http://fmdworks.com

FADUORKS

T1 REF V2.0

I
|
T ——— J

1

[

8

DR

R
R

Fasteners:

M3-4 x2



http://fmdworks.com
http://fmdworks.com

FADUDORKS

TTREF V20

Fasteners:
M3-4 x1
CSM3-5 x3

CSM3-8 x3

10


http://fmdworks.com
http://fmdworks.com

FMDUORKS

T1 REF V2.0

000000000000000¢ o
A;:=E;;=:=====¢==
1000000000000 (0
w00000000000000000
000000000000000MOC
HOOEOOOOOOOOOMOENE
(LI
H00COOO0OO00O0000Q
WHN00e00000000000
WO0OOOOO UOOOOO0 ()
*;:5¢====:===:=:==
MH””W¢===¢=====:==
_+====:=====

V00000 o
J0000 H_ ”_ ”" ”" H” ”" “ M H” ”. <

L

=¢==:===

Fasteners
CSM3-5 x4

11


http://fmdworks.com
http://fmdworks.com

FADUDORKS

TTREF V20

1(Q

/

s s

llllmv,il.‘..III

S DO
I"|II||"
|l*|."."

LI T
!$l||....‘..‘

LAGDGHIOT PANIAGGRTN

] ]
t'l'il LMD i.tllll.. 0
L] PANAGGLTNS
SO OO0 |l'|||'|I.!u';l|'. .'
S DD D IHD D Wh
_i“li_lll‘lll‘llllff‘.,“.‘II
UM PASIALBOGOT b
LU RN O RO
L LRI )
RO N BN BN
X LR OO N
OO MR b
LR DI N R
LML B CRCRC IR O RO
LR OO0 RN
RO OO M DN RN
DO B D NI
RO R O B I T N B N N
(M) RO OO O N NN N O]

SO
YANIDATINGD

O R T N T R T T (]
COCRCR RO RO R RN N R RO N
PR T T O I A D

OO RO OO M AR MM

O RO OO R B R B O R R R I

OO OO IR R R N N R N

L IR0 R St L B L (I B e ]

] '
UPCRCCR R OO B R ORI DO O D M I I D e D B e e
LRCIRC NG IO R R O O N R B O N ] NN

N
10
LI I BT I e e O )

3 3 FENNN NI
a a0 LI I N
(M B
M )

(] i W

(N (BN ] R N T NN

L B I U O I LN BN | (N

(] O R e

CH B DO D IR B R S B B D B

CRCRCRUICTRC T IR lll_lll
LI LI N

(3 B D D . I e e

A N N R NN

B N NN D]

O IR B (O e ) (I )
.|‘|.pp_||||1 N o B

(U IO R B L (BRI e R B

ORI M RO
Y Te e e
AT e D e e D D

t'tll'|'|||||+~||_1i”.-H:.I-“;F_l

BB DIHIIDPIPAIIIES

] A IIBO0] 1
R R ]

II”"|-..,r.-llli'lltlr---
i‘i-itllllf-llli (R )
O
S e e

O AL

RO R el '

N DO
§ou e

AN IR
y won b

i (]
N IR )
Illillll_lll*_llli [

B U

AO00000
(]
.._;*ll

(]
(]
M ]

it .*_
ll,plili

]
(I i

]
(I
I DD

W 1

R
- 3 .

000N00RNIEN I
T

NI N
] 1 B
38k
oA

D
O K

NI
MR
AN
Wi N R,

S e T L

i W ]
RN L
Vo Ly
W MBI,
= |'4-|||-'1"""'
RPN
W NI
rr||||1-r"""

FIFFNIIIN
E

RN

WA AR

ORI ] W

L3N BN N LN I ]

BRI RN
DI EIREINY
PRI MR BN
] W]

' I

DO I EFMIIIEFI D]
W FFEFIF DRI IR
ihn FEFF BN
g j O] ]
(] IR
T

PN

(N
TR

I B ]
NI

1 NI R EREYRE

P ¥R,
()

b
T e e g

T b
(B 5 0o Bt () P FE

Y]
3R]

A F P I PRI I ERS 3]
(¥ Sl
& I

I,|.||||l""' ket T 2

WX I IR

I DN

i b
PN
W R
YIRS e
r.JIII'I'

12


http://fmdworks.com
http://fmdworks.com

FADUDORKS

TTREF V20

Fasteners:

THUMB-6 x4

! MM DD i
'l--.:blllllllll+l|ll||b||-
-||1.t.t!11ittl|illllli-ll
-tillllllll"'—iill‘lll.

t-lillIllllllilllililllll
Iliiitliotllllilllld
llllllllliﬁllltlrllll|||||
GO DI B DN
L O GNAGNN NN
-Iltiiiiil~lllillll

LB B ]
UMMM D I NP DD

(I DI I ]

LM DO ]
I D
N ]

B ]
(R

U N I ]

L I )
LN R D

€
-
bt

i

£
L
L

l

i

i

i

£

i

3

13


http://fmdworks.com
http://fmdworks.com

FADUDORKS

TTREF V20

Brought to you by the FORMD Team.

14


http://fmdworks.com
http://fmdworks.com

